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1. Tivwdan diagram M28819289 Unverse- Family-Class- Sub class( n3o
Sub- class)- Member Attributes lag W@onan Shaping, Joining and

- . A e & - . .
Finishing mafvi1knia Wiaanvasuiss1aazidpazaInssnia4 points)

k *
2. Twnszuawnnsnaana 3 szinn Téun Shaping, Joining and Finishing W
' a At aad o ° ¥ a
yhwasnangasidpanosnssnIanimaniana wawdan Yszinnaz 1
wita (@arnaginiadisnlaazunsadsenaula) (4 points)
3. Systematic Process Selection (6 points)
3.1 i annssnis lwnsuanag1989zuu (Systematic Process

k ¥
Selection) Usznouluarszuaonarlsouaziabunasaazidanaas

L
AN Screening using constraints

3.2 What are the differences between tolerance and surface roughness?

4. From text below, forming a ship turbine: {6 points)
The design requirement:
The materials choice for the ship turbine is bronze. The power of a turbine
is determined by its radius and rate of revolution. The designer calculates
the need for a turbine of radius 400mm and 80mm width, with 3 blades of
average thickness 10mm. The volume of material in the turbine is roughly
its surface area times its thickness, (density of bronze, 8900kglm3). The
turbine has a fairly complex shape. We classify it as 3D solid. In the
designer’s view, balance is what really important. Designer specifies a
tolerance of +/- 0.5mm a surface roughness of <8um. (Calculation of mass
is very important.)
4.1 Constraints (§83110819 9, A2ud ) dazlsine

4.2 What charts do you apply?
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